Example 4-6

type LEP_4_6  

% "LEP_4_6"

% m-file to solve example 4-6

%

% x(1)=X

% x(2)=y

% xdot(1)=dX/dW, xdot(2)=dy/dW

function xdot=LEP_4_6(w,x)

global eps kprime

kprime=0.0266;

eps=-0.15;

alpha=0.0166;

rate=kprime*((1-x(1))/(1+eps*x(1)))*x(2);

fa0=1;

xdot(1,:)=rate/fa0;

xdot(2,:)=-alpha*(1+eps*x(1))/(2*x(2));  

global eps  

ic=[0;1];wspan=[0 60];  

[w,x]=ode45('LEP_4_6',wspan,ic); 

f=(1+eps.*x(:,1))./x(:,2);  

plot(w,x,w,f); title('Example 4-6');xlabel('w (lb)'); ylabel('X,y,f');  
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